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INSTRUCTIONS — Read each question carefully!! For full marks, show all work where required.
Modified True/False (5 KU)

Indicate vyether each statement is true or false. If false, change the-underlined part to make the statement true.
1. _E The y-intercept of the line 4x+2y—-6=0 is —6. ‘//: j;% mMarkl Change: 3 I/(

2. TAe line x=-1 is perpendicular to the line y =-1. Change:
3. E The x-intercept of the line y =-5x+10 is 10. Change: Q ‘/(
4. F If a line has a slope of 3/2, then any line perpendicular —Q
to it must have a slope of —3/2. Change: 2
5. _riv‘ﬁ‘ the dependent variable of a linear relation increases by 7 for -7 \}(
every decrease of 5 in the independent variable, the slope must be 7/5 . Change:

Multiple Choice (4 KU)
Identify the choice that best completes the statement or answers the question.

6. 4 \/For the line 2x+5y+10=0, which statement is true?

@ The line goes downward to the right and (b) The line goes downward to the right and
intersects the y-axis below the x-axis. intersects the y-axis above the x-axis.

(c) The line goes upward to the right and (d) The line goes upward to the right and intersects
intersects the y-axis below the x-axis. the y-axis above the x-axis.

7. _Q ‘/If the run (Ax) and the rise (Ay ) have the same signs, what must the slope be?

Positive (b) Zero (c) Negative (d) Undefined
8. _Q{_ What is the slope of the line with an x-intercept of 3 and a y-intercept of —10?
3 3 10 10
a) —— b) — C) —— —
U (b) 1 © -7 OF
9. d ‘/Why is x set to zero to find the y-intercept of a line?
(a) Setting a value to zero is an age-old mathematical trick that always works like a charm! K|-0O
(b) To find the y-intercept of a line, x must be set to zero. Al-0
(c) All points on the x-axis have a y-co-ordinate of zero. T|-0
AII points on the y-axis have an x-co-ordinate of zero. cl-0




Problems

10. Determine the slope-y-intercept equation of the line passing 1o
through the points A(—4, —9) and B(3, —4). (Write both the slope i
and y-intercept in fraction form. Do not convert to decimal form!)
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11. The following questions deal with the equation 2x-3y—-6=0, an equation of a line in standard form.

(a) Write the equation in the form y=mx+b |[(b) Use the slope-y-intercept form of the equation that you
and state the slope and y-intercept. found in (a) to sketch a graph of the line. (3 KU)
(Again, write both the slope and
y-intercept in fraction form. Do not

convert to decimal form!) (4 KU) 10
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12. Hafsa has a large collection of 5¢ and 10¢ stamps that she would like to use to send a parcel to a friend.
Answer the questions found below given that it costs exactly $5.00 (500¢) to mail the parcel.

(c) Sketch a graph of the equation that you wrote in
part (b). (4 APP)

How many Stamps does Hafsa need?

(a) If Hafsa uses only 5¢ stamps, how
many would she need to mail the
parcel? How many would she
need if she uses only 10¢ stamps?
(2 APP)
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(b) Let x represent the number of 5¢ stamps and B /
y represent the number of 10¢ stamps. Keeping in 90 20 30 40 50 60 70 80 90 100
mind that cost of mailing the parcel is $5.00 Number of Five-Cent Stamps
(500¢), write an equation, in standard form, that () What do the intercepts of the above graph
c ff'itFeS x and y_}(3 AF’P)5 o 005 ddl represent? (2 APP)
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(e) Use the above graph to find three solutions to Hafsa’s problem. In addition to stating each solution,
verify that it is correct by calculating the total cost. (3 APP)

Solution 1: #5¢ stamps__ [0 #10¢ stamps_ 45 Check: _10¢0.05)+ 45 0.J0) = 5 /

Solution 2: #5¢ stamps__ U #10¢ stamps __ 40 Check: 2000.05) + 40(0.10) =5
5 v

Solution 3: #5¢ stamps 39 #10¢ stamps__ 32 Check: 30(0.05) + 35(0.10) =

(f) Jordan and Shawn exchange harsh words about the
nature of the solutions to Hafsa’s problem. Jordan
claims that it is possible for the number of 5¢ stamps to
be odd but Shawn emphatically disagrees. He states ;

. d Jordan Dharni!
that the number of 5¢ stamps must be even. Who is and Jordan Bnarni
correct? Explaln (3TIPS)
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13. In the equations given below, p and g represent unknown coefficients of equations of lines in standard form.
They do not represent variable values! Your task is to calculate the values of these unknown coefficients.

The line px+3y+6 =0 is perpendicular to the line 3x+qy +14 = 0and has the same x-intercept as the line
y =2x+6. Determine the values of pand gq. (10 TIPS)
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